ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN
49/24-A, MINTO ROAD, PRAYAGRAJ.

SESSION JULY - DECEMBER 2020
ASPEUS CORRESPONDENCE COURSE - SEM -1 (CAHS)

Semester — 1 (CAHS)
BASICS OF HUMAN BODY (BHB-1)

TIME - 1.30 HRS MAX MARKS-100
(ONLINE EXAM)

(Objective Questions)

(agfrss =)

Attempt each questions: 50x2=100
9P 9T P SR o

(1) What is Homeostasis -

(a) Respiratory process (b) Body balancing process
(c) Excretory process (d) None
B R 7 @ —
(a) a9+ fopar (b) TR g fban
(c) SaotT fopam (d) ®ig 18I
(2) Which cell has no reproductive property -
(a) Muscle cell (b) Secretary cell
(c) Fat cell (d) None
foa SIR®T § g1 I[o1 AL 9T SIar 38—
(a) Muscle cell (b) Secretary cell
(c) Fat cell (d) ®ig 8l
(3) Which is primary source of energy -
(a) Carbohydrate (b) Protein
(c) Fat (d) None
YRR &l 391 34 qraT yrAafie gia 8 —
(a) PIEIEISRC (b) 9=

(c) @t (d) d1g T



(4)

)

(6)

(7)

(8)

(9)

Building material of our body is -

(a) Minerals (b) Fat

(c) Protein (d) None

IR o fSfesT ARTA 2

(a) frrvew (b) BT

(c) wIid= (d) &g T2Y

Fixed deposit of energy in human body -

(a) Carbohydrate (b) Fat

(c) Protein (d) None

AT IR § Holl & Gfad Avsr —

(a) BIEiEIs|T (b) @ET

(c) g CEIEIS

Brain of the cell -

(a) Nucleus (b) Mitochondria

(c) Lysosome (d) None

PHIR®T BT ARTD —

(a) B<D (b) ATgCIHI~gAT

(c) ATgErEH (d) &g T2Y

What connects nucleus with cell membrane -

(a) Ribosome (b) Endoplasmic reticulum

(c) Cytoplasm (d) None

Nucleus &I cell membrane ¥ Sitsdr 28—

(a) Ribosome (b) Endoplasmic reticulum

(c) Cytoplasm (d) ®dig -2l

In a cell, synthesis of protein occurs in -

(a) Centrosome (b) Ribosomes

(c) Lysosome (d) All of above
$ 9 91T A YA BT GIAYT BidT & —

(a) Centrosome (b) Ribosomes

(c) Lysosome (d) 39 | |

Suicidal bags of cell is -

(a) Lysosome (b) Nucleus

(c) Mitochondria (d) None

DIRTDHT BT GASSA 47T & —

(a) Lysosome (b) Nucleus

(c) Mitochondria (d) ®Ig -T2I



(10)

(11)

(12)

(13)

(14)

(15)

What is a tissue -

(a)Unit of body (b)Group of Non-similar cells
(c) Group of similar cells (d) None

Sdd T 2—

(a) IR B SBTS (b) faRr=1 B¥r®IaT &1 Tz

(c) G BIRTHIET &1 WE  (d) HIs 2

Elastic Aeriolar Tissues are present in-

(a) Skin (b) Lungs

(c) Veins, Arteries (d) All of above
Elastic Aeriolar Tissues &—

(a) ©aar (b) ®Hs o

(c) 7Y e ey & (d) =

Cardiac muscles are -

(a) Voluntary (b) Involuntary
(c) Both (d) None
Cardiac muscles & —

(a) Wdfee® (b) sFifee®

(c) s (d) ®ig =Tl
Example of Fluid tissue -

(a) Blood (b) Lymph

(c) Cerebro Spinal fluid (d) All of above
Fluid tissue & S&TEROT —

(a) Nad (b) forvm

(c) AREl WIgTd TS (d) gsft

Cells need energy to perform this -

(a) Active transport (b)Passive transport
(c) Osmosis (d) None

BIRTGT BT Holl B THId eldY 28—

(a) afspa afkas= (b) Fras aRaga
(c) sTraHii (d) ®Ig -T2I
Formation of blood occurs in Embryonic phase in-
(a) Liver (b) Spleen

(c) Lymph node (d) All of above
GUTTaeT § Xad &7 fAfor glar @ —

(a) a&Hd (b) whiaT

(c) forw IS (d) |+t



(16) Which organ is graveyard of blood cells -

(a) Spleen (b) Liver
(c) Kidney (d) None
BT AT AT Yad BB BT Hfaw= 2—
(a) wiraT (b) aga
(c) q® (d) &g T8

(17) The shape of Erythrocyte -
(a) Round (b) Biconvex disc
(c) Biconcave disc (d) None
Erythrocyte &T 3MT®HR 28—
(a) M (b) Biconvex disc
(c) Biconcave disc (d) &g T2Y

(18) Red colour of blood is due to -
(a) Albumin (b) Hemoglobin
(c) Lymphocyte (d) None
Yad Bl Tl 3T AT a—
(a) Albumin (b) Hemoglobin
(c) Lymphocyte (d) ®dIg T8

(19) Life span of Red blood cell -
(a) 110 days (b) 70 days
(c) 100 days (d) None
ATl X HIOTHIRI $T SHd-l &I —
(a) 110 fa=1 (b) 70 f&=1
(c) 100 fe=1 (d) ®Ig T2Y

(20) Heme bilirubin is changed into Cholebilirubin by -
(a) Kidney (b) Liver
(c) Urinary bladders (d) None
Heme bilirubin &1 f&¥ 3i7T gRT Cholebilirubin # IgaT SITar 8 —
(a) Kidney (b) Liver
(c) Urinary bladders (d) BIg T

(21) Cause of Anemia —
(a) Malnutrition (b) Achylia gastric
(c) Hook warm infection (d) All of above
IRGAAT b DRV —
(a) FUIYOT (b) sr=feram ARg®

(c) gHhaH HHHUI (d) @t



(22) Erythrocytes with pin like holes -

(a) Hypochromic (b) Picnotic cells

(c) Microcytic (d) None

fagda sRuTase —

(a) Hypochromic (b) Picnotic cells

(c) Microcytic (d) ®ig T8I
(23) Mobile security guards of human body -

(a) Erythrocytes (b) Leucocytes

(c) Thrombocytes (d) None

A9 IRR & TEA g9 ST —

(a) RaaTv (b) TaT

(c) ¥TH=<IY] (d) ®ig I8l

(24) Leucocytosis -
(a) 10% increase in normal TLC (b) 15% increase in normal TLC
(c) Both (d) None
DTSN —
(@) TLC @& d&a1 § 10% &I dgicas)
(b) TLC &1 S&aT H 15% &I dgiesl
(c) g4It (d) dig 8T

(25) Leucopenia -
(a) 20% decrease in a normal TLC(b) 10% decrease in a normal TLC

(c) Both (d) None

gaidifa—

(@) TLC H 10% &1 &1 (b) TLC H 10% &t &+

(c) st (d) ®1g Tl
(26) Itincreases in case of Allergy -

(a) Eosinophil (b) Basophil

(c) Monocyte (d) None

Toroff @Y <o A 9¢ o € —

(a) Eifha (b) difhe

(c) WIETSe (d) &g 12l
(27) They form antibodies against microbes -

(a) Lymphocytes (b) Monocytes

(c) Both (d) None

J Arshisd & Raame TASEIS &1 fFfor &xd & —
(a) Lymphocytes (b) Monocytes



(c) I=it (d) dig T8

(28) Total TLC in blood -

(a) 5-9 thousand/cumm (b)4-11 thousand/cumm
(c) 6-10 thousand/cumm (d) None
Gd H 9dd TLC §&r —
(a) 59 9 g9R/cumm (b) 49 11 89IR/cumm
(c) 6 ¥ 10 &9IR/cumm (d) dIg T
(29) The participation of Neutrophil in TLC -
(a) 20 — 30% (b) 80 — 90%
(c) 50 — 70% (d) None
TLC 4 =yciftha 31 HgHIRar —
(a) 20 - 30% (b) 80 — 90%
(c)50 - 70% (d) ®ig 8

(30) It helps in repairing process by making patches -

(a) Leucocytes (b) Thrombocytes
(c) Both (d) None
A 49 o R USRI D TTHE B SId B B
(a) Leucocytes (b) Thrombocytes
(c) <=t (d) Big el
(31) Blood is -
(a) Acidic (b) Alkaline
(c) Neutral (d) None
ad B8—
(a) Ir+ilg (b) &g
(c) Ser= (d) &g T2Y
(32) ‘Agglutinin’ present in blood Group ‘AB’ -
(a) Beta (b) Alpha
(c) Both (d) None
AB s U ®§ &I AT Agglutinin grar 2—
(a) drer (b) 3reTBT
(c) <=l (d) Big el
(33) Which is a gland of emergency -
(a) Adrenal (b) Thymus
(c) Testis (d) None
AMTadTetE U fHd wEd -
(a) T¢I (b) AT

(c) efRew (d) &g 8l



(34)

(39)

(36)

(37)

(38)

(39)

Part of human food -

(a) Carbohydrate (b) Protein
(c) Fat (d) All

AT & Ao § wafafea 2-

(a) PIEIBIgST (b) Wi

(c) asr (d) &=
Types of Salivary glands -

(a)3 (b) 2

(c)4 (d) None
R IR & UBR —

(a)3 (b) 2

(c)4 (d) @1$ =TEl
Saliva produce in one day -

(a) 1.0 — 1.5 Liters/day (b) 2.0 — 2.5 Liters/day
(c) 3 Liters/day (d) None
IS o R &1 SAred far simar @ —
(a) 1.0 — 1.5 Liters/day (b) 2.0 — 2.5 Liters/day
(c) 3 Liters/day (d) ®Ig =121
pH of Saliva —

(a)4.3-4.6 (b) 6.3 -6.8
(c)5.9-6.1 (d) None
R &I pH —

(a)4.3-4.6 (b) 6.3 -6.8
(c)5.9-6.1 (d) dIg T2
Gastric juice is secreted by -

(a) Small Intestine (b) Large Intestine
(c) Stomach (d) None
HRe® S[A &1 99vT a1 & —

(a) BIEY aAfa (b) <Y 3ifa
OELGIEE (d) &g gl
Largest part of Small Intestine -

(a) Duodenum (b) Jejunum
(c) lleum (d) None
BICI 3ATd BT G4 =T ANT —

(a) Duodenum (b) Jejunum

(c) lleum (d) ®rg e



(40) Bile juice is -

(a) Alkaline (b) Acidic

(c) Neutral (d) None

95l o9 © —

(a) &a™ (b) srira

(c) Serdi= (d) @iz =&l
(41) Amonia is transferred into Urea by -

(a) Kidney (b) Liver

(c) Lungs (d) None

i &t gRar § sgaar -

(a) 9 (b) aHa

(c) vws (d) oI =Tl
(42) A site in our body for millions of non-pathogenic bacteria -

(a) Lungs (b) Stomach

(c) Large Intestine (d) None

BUR ¥INR &1 98 A Siel dr™l o g&ar 4 Syl sfiaqro] ud s
¥ _

(a) BB (b) 3ITHTIR
(c) 9T 3fid CEIEISE]

(43) Site of Synthesis of Vit B and K in our body -
(a) Liver (b) Gall Bladders
(c) Urinary Bladders (d) None
faerfim B &k K &1 |eayor g9R IR # ghar @ —
(a) a®d (b) Rrarera
(c) qATI (d) &g =12l

(44) Last part of Large Intestine -
(a) Caecum (b) Appendix
(c) Rectum (d) None
991 3Td &1 ARG AIT —
(a) Caecum (b) Appendix
(c) Rectum (d) &g T2

(45) It take part in synthesis of enzymes and hormones -
(a) Minerals (b) Protein
(c) Fat (d) All
d T3 9 RAG @ 0T § |nT |dr @ —
(a) frves (b) 9=

(c) BT (d) |+t



(46)

(47)

(48)

(49)

(50)

Protein rich foods -

(a) Milk (b) Fish

(c) Meat (d) Al

9 e @re aEirar —

(a) g (b) el

(c) =rH (d) &=
Adipose cells are the store house of -

(a) Protein (b) lron

(c) Fat (d) All

Tfeuier SIS Far U8 Hd) & —

(a) 9= (b) IMARA

(c) asn (d) &=
Neutrophil will increase in -

(a) Cellulitis (b) Empyema
(c) Acute hemorrhage (d) All

ggifba 9 fdi—

(a) Cellulitis (b) Empyema
(c) Acute hemorrhage (d) g+

Achylia Gastrica is a disorder of -

(a) Heart (b) Lungs

(c) Stomach (d) None
Achylia Gastrica TS9S! & —

(a) &3 @1 (b) BBS B

() T HY (d) &g T2
Pernicious anemia is caused when body can’t absorb -
(a) Minerals (b) Vitamin B 12
(c) Vitamin D (d) None
Pernicious anemia &Idl @ o4 IR 781 o Ul & —
(a) Minerals (b) Vitamin B 12

(c) Vitamin D (d) &g T2






ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN
49/24-A, MINTO ROAD, PRAYAGRAJ.

SESSION JULY - DECEMBER 2020
ASPEUS CORRESPONDENCE COURSE-SEM - 1(CAHS)

CHINESE ACUPRESSURE (CA-1)
TIME - 1.30 HRS MAX MARKS-100
(ONLINE EXAM)
Objective Questions (d¥fTs3 Y2)

Attempt each questions: 50x2=100
9P 9T d SN 2

(1) Leg Correspondence will be in -

(a)Small finger (b) Thumbs

(c) Middle finger (d) None

4R &1 "I BT —

(a) Bfafs®r & (b) 33 F

(c) FesT o (d) BIg T8I
(2) Anger emotion related organ is -

(a) Lungs (b) Liver

(c) Heart (d) None

Big 9 WEfaa @aa 8 —

(a)pwe (b) aa

(c) g<a (d) ®Ig T

(3) Total points in Heart meridian are -
(a)11 (b) 10

()9 (d) None

Heart meridian 4 o fa=g 28—

()11 (b) 10

()9 (d) ®13 =Tl
(4) Controller of Metal element is -

(a) Fire (b) Water

(c) Wood (d) None

€Tq ad &1 fFraas & —

(a) afq (b) STet

(c) BT (d) dIg T



(5) Green colour related element is -

(a)Fire (b) Earth
(c) Metal (d) None
& 7 4 gefug 9@ @ -
(a) o (b) gedt
(c) g (d) g T
(6) Left shoulder will be in -
(a) Lt index finger (b) Lt small finger
(c) Lt ring finger (d) None
IR PE BT WG BHMT—
(a) sl aofit § (b) Il ®ffs®r #
(c) IRfY srifd®T A (d) ®Is T8l
(7) Last point of Heart meridian is located in -
(a)Ring finger (b) Thumb
(c) Index finger (d) None
Heart meridian &1 3ifos fag Rea 2 —
(a) TPt A (b) 3TS A
(c) asi-it o (d) ®rs 18T
(8) Primary correspondence of Appendix is-
(a) Right palm (b) Left palm
(c) Left sole (d) None
Appendix &T Y1Ifi® AIgea 8-
(a)gTfelt gaelt W (b) STfT Belt WR
(c) a1 derd W (d) P T
(9) Controller colour of Lungs is-
(a) Green (b) Yellow
(c) Blue (d) None
Phe I fraad 3T 2 —
(a) &1 (b) dre

(c) ~fram (d) ®Ig &l



(10) Horary point of Stomach is -

(11)

(12)

(13)

(14)

(15)

(a) St - 43 (b) St - 44
(c) St-45 (d) None
Stomach (Mer™) &T Horary point 8—

(a) St-43 (b) St-44
(c) St-45 (d) BIg 1Y

Energy of K-1 is -

(a) Heat (b) Dryness
(c) Wind (d) None

K- 13 Sl 2—

(a) ST (b) TshdT
(c)arg (d) BT T
The season related to Heat energy is -

(a) Autumn (b) Spring
(c) Summer (d) None
ST SHoll 4 grfea waa 28—

(a) udsts (b) 98T

(c) ¥ (d) ®1g &1
In Su-Jok Su means -

(a) Hand (b) Leg

(c) Thumb (d) None
Su-Jok # Su @7 3ref & —

(a) fa (b) 4R

(c) FieT (d) BV T
Passage point of Spleen is -

(a)Sp- 4 (b) Sp-6

(c) Sp-5 (d) None
Spleen T Passage pointg8 —

(a) Sp-4 (b) Sp-6

(c) Sp-5 (d) dIg Tl
UB-13 is Back Shu point of -

(a)Heart (b) Lung

(c) Kidney (d) None
UB-13 Back Shu point 28—

(a) g5a (b) pBS
(c) & (d) B T



(16) 5 AMto 7 AM time is related to -

(17)

(18)

(19)

(20)

(21)

(a) Si (b) Kidney
(c) Liver (d) None
5AM ¥ 7 AM 99a | wHfead 82—

(a)Si (b) Kidney
(c) Liver (d) ®ig T8I
Sour test is related to -

(a) Heart (b) Liver
(c) Lungs (d) None
Tce Wie 4 giefed g—

(a) g<d (b) IHd
(c) P®s (d) BIg TE
Distal point of Head is -

(a) Li-4 (b) P-6

(c) Sp-6 (d) None
R &1 g fag 2-

(a) Li- 4 (b) P-6

(c) Sp- 6 (d) ®1g T
Yin Organ is -

(a) Gall Bladder (b) Spleen
(c) Stomach (d) None
Yin 3@aq @ —

(a) U™ (b) wireT
(c) T (d) &g 18T
Creation of Earth element is -

(a) Water (b) Metal
(c) Fire (d) None
yeft d@ &1 Yo fba a4 ghar 8-
(a) STet (b) &11g

(c) arfta (d) &g &l
Pair organ of Heart is -

(a) Liver (b) Kidney
(c) Spleen (d) None
< BT Y JqUqd -

(a) Tg (b) T

(c) welraT (d) &g 121



(22)

(23)

(24)

(25)

(26)

(27)

Xi Cleft point of Lungs is -

(@)Lu-6 (b) Lu -7
(c)Lu-9 (d) None
Lungs @T Xi Cleft point 8 —

(@) Lu-6 (b) Lu -7
(c)Lu-9 (d) ®Ig T2I
Luo Connecting point of Pericardium is -
(ayP-7 (b)P-9
(c)P-6 (d) None
Pericardium &T Luo Connecting point 28—
(@P-7 (b)P-9
(c)P-6 (d) BIg TE
Opening of Liver organ is -

(a) Nose (b) Tongue
(c) Ears (d) None
JHd UG BT opening a—

(a) T (b) Sfra

(c) @11 (d) g
Bone meeting point is-

(a) UB -11 (b)uB-12
(c)UB-13 (d) None
Bone meeting point @—

(a) UB -11 (b)uB-12
(c)UuB-13 (d) &g T2¥
Sedation colour of Gall Bladder is -

(a) Brown (b) Green
(c) Red (d) None
e &Y Soll 9 HRA 91T 3T 28—

(a) X1 (b) &1

(c) <ret (d) ®1g ~TEl
Throat correspondence will be in -

(a) Index finger (b) Thumb
(c) Small finger (d) None
Tl BT QG BITT—

(a) aoi+t § (b) SiT3 A

(c) Bi-iftadT | (d) &g &l



(28)

(29)

(30)

(31)

(32)

Energy of TW-1 is -

(a) Dryness (b) Wind
(c) Heat (d) None
TW- 1@} Sl 8-

(a) e (byary
(c) af¥ (d) BIg =T
Tonification colour of H-9 is -

(a) Green (b) Red

(c) Yellow (d) None
H- 9 @Y Soff g1 drelr 3T 8—

(a) &1 (b) <Tet

(c) drar (d) ®1g 7T

Which of the followings are not covered by the definition of Meridian-

(a) The means whereby medicine is created.
(b) The means whereby Man is created.

(c) The means whereby disease occurs.

(d) None

1 q ¥ 39 A Fafsas o1 aRwmer 98 -
(a)The means whereby medicine is created.
(b)The means whereby Man is created.

(c) The means whereby disease occurs.

(d) ®Ig et

Diseases are due to-

(a) Excess of energy (b) Deficiency of energy
(c) Imbalance of energy (d) All of these.
SRt &1 sRoT } —

(a) ot @1 3rferadr OESIIE]
(c) oIl & FHTAT (d) Sufad |+
Organ related to yellow colour is —

(a) Stomach (b) Liver

(c) Heart (d) None

fiat ¥ @ wHfua saua @ —

(a) mHrR™ (b) Idd

(c) gad (d) dIg Te



(33)

(34)

(39)

(36)

(37)

(38)

Which point to be applied after unconsciousness due to High BP -

(a) K -6 (b) K-7
(c)K-1 (d) None
Sod YGddid & DR 4819 B9 WX 45 W <919 <7 —
(@)K -6 (b)K-7
(c)K-1 (d) ®1g T
Fire is controller of -

(a) Water (b) Wood
(c) Earth (d) None
i s 82—

(a)ofel @1 (b) ®TSS BT
(c) gedT &1 (d) &g 12X
Which is the colour of wood element -

(a) Yellow (b) Green
(c) Red (d) None
IS dod’ A aHEfEd 3T B9 A1 2 —
(a) gt (b) &1

(c) eret (d) ®Ig =Tl
Related organ of the Joy is -

(a) K-UB (b) Liv- GB
(c)H - Si (d) None
IS 4 gHElEd AT 3—

(a) K-UB (b) Liv- GB
(c)H - Si (d) &g T2¥
CV-17 is the Front Shu point of -

(a) Pericardium (b) Heart
(c) Spleen (d) None
“CV- 17" Front Shu point 8—

(a) ddrprfSaH (b) €<

(c) witaT (d) ®Ig =Tl
Analgesic point is -

(@ Lu-7 (b) St- 36
(c) Li- 4 (d) None
<< fare fag 8-

(@)Lu-7 (b) St - 36
(c)Li-4 (d) ®ig =12l



(39) Heat point of Stomach meridian is -

(a) St - 41 (b) St -45

(c) St-44 (d) None

TR &T Heat point 28—

(a) St - 41 (b) St -45

(c) St-44 (d) ®Ig -T2I
(40) Total point of Urinary Bladder meridian is-

(a) 66 (b) 65

(c) 62 (d) None

Urinary Bladder #¥8if$aq @ wwafea oo fag g—

(a) 66 (b) 65

(c) 62 (d) ®1g T
(41) Organ related to skin & body hair is -

(@) Lu-Li (b)H-Si

(c) St—Sp (d) None

@4l U4 IRR @ 9Tall 9 GEfed 3999 8 —

(@) Lu-Li (b) H - Si

(c) St-Sp (d) BIg 21

(42) Meaning of TCM is —
(a) Traditional Chinese Medicine (b) Traditional Chinese Meridian
(c) Traditional Chinese Man (d) None.

TCM @t 3aref & —
(a) Traditional Chinese Medicine (b) Traditional Chinese Meridian

(c) Traditional Chinese Man (d) B¢ 12X

(43) Controller of all six Yin meridian is -

(@) GV (b) GB

(c)CV (d) None

gl B 9 Aafsas #) Ffaae adfsas 2

(@) GV (b) GB

(c) CV (d) ®1g &1
(44) Large Intestine meridian starts from -

(a) Index finger (b) Small finger

(c) Thumb (d) None

I<1 3rfa @ ANfeTT o sd 2

(a) aoi=l (b) dffa®T

(c) AT3T (d) ®ig -2l



(45) Neck correspondence is located on -

(46)

(47)

(48)

(49)

(50)

(a) Front of thumb (b) Palm
(c) Sole (d) None

“ ST BT WG B

(a) S D AW BT AT (b) gl #
(c) aqa A (d) P Tl
Energy of TW meridian is -

(a) Hotness (b) Wind

(c) Coldness (d) None
TW meridian @1 Soll @ —

(a) FaR ST (b)aTy

(c) Hrerar (d) d1$ T
Energy of “Liv-1"is -

(a) Heat (b) Wind
(c) Coldness (d) None
“Liv-1” @ Sl a—

(a)s™T (b) arg

(c) efaerar CEIES ]
Tonification colour of Earth element is -

(a) Green (b) Red

(c) Yellow (d) None
gedl @ &I SHoll 9g1H Tl T 2—

(a) &1 (b) <iTet

(c) dra (d) g &
Total point in Kidney meridian are -

(a) 25 (b) 26

(c) 28 (d) None
Kidney meridian # ga fag & —

(a) 25 (b) 26

(c) 28 (d) BI$ TE
Yang organ is -

(a) Si (b) Liv
(c)H (d) None
Yang organ 2—

(a) Si (b) Liv
(c)H (d) BI$ TE



ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN
49/24-A, MINTO ROAD, PRAYAGRAJ.

SESSION JULY - DECEMBER 2020
ASPEUS CORRESPONDENCE COURSE - SEM -1 (CAHS)

AYURVEDIC ACUPRESSURE (AA-1)

TIME - 1.30 HRS MAX MARKS-100
(ONLINE EXAM)
Objective Questions (T¥fTs3 Y)
Attempt each questions: 50x2=100

Jd® Yl & SN Q-

(1)  Number related to Element ‘Man’ is -

(@7 (b) 8

(c)6 (d) None

79 | wEfed e 8 —

(@7 (b) 8

(c)6 (d) ®1g T
(2) Which one is ‘Physical element’ -

(a) Mind (b) Direction

(c) Water (d) None

frfaRaa 4 4 #ifae aa@ @ —

(a) w1 (b) feem

(c) oTet (d) ®ig =Tl
(3) Element related to Liver is -

(a) Fire (b) Earth

(c) Space (d) None

Liver & wwf~ad g 2—

(a) s (b) gedi

(C) SITHILA (d) &g T2
(4) Tasteis -

(a)Element (b) Sense organs

(c) Energy (d) None

i 2 —

(a) da (b) sfsa

(c) =T (d) g T



)

(6)

(7)

(8)

(9)

Correspondence of Throat is -

(a) Index finger (b) Thumb
(c) Small finger (d) None
Tl & |G BT —

(a) aci=ht & (b) B
(c) wfifSs®T # (d) ®Ig T2Y
How many Doshas in Ayurved -

(a) 3 (b) 2

(c) 1 (d) None
IRdT ¥ N foad & —

(@) 3 (b) 2

() 1 (d) B =7l
The meaning of ‘Veda’ in Ayurved is -

(a) Mantra (b) Life

(c) Knowledge (d) None
AYde e 4 ‘97" BI 32 & —

(a) 94 (b) sha=
(c) == (d) B3 T8
Which energy is related to ‘Fire’ -

(a) Sound (b) Touch
(c) Ras (d) None
3 W gmET e @ awfaa 2-

(a) o=z (b) et

(c) ¥« (d) oI =7l
Where is the ‘Primary correspondence’ of Appendix -
(a) Lt palm (b) RT palm
(c) Lt sole (d) None
vifsam &1 yrafie Argea wel s —

(a) arft Bl (b) gfT B

(c) ST erdT (d) dIg T8



(10) Time of Pitta - Pitta is -
(a) 10 AM -2 PM
(c) 12 AM-4 PM
i — U &1 w9 23—
(a) 10 AM -2 PM
(c)12 AM -4 PM

(11)

Correspondence of Knee is -
(a) Index finger

(c) Middle finger

g 3T 919 o—

(a) ast=ir el o

(c) H=gHT JA[elr |

(12)
(a) White byol magnet
(c) Both

(b) 4 PM -6 PM
(d) None

(b) 4 PM — 6 PM
(d) B¢ TEl

(b) Small finger
(d) None

(b) Hffs®T At A
(d) ®Ig =Tl

Which magnet is used for tonification of the energy in treatment -

(b) Yellow byol magnet
(d) None

SUAR TG ol ¢ @ ford $I9 a1 AT &1 9aT R —

(a) 9T Fid AHCT

(b) drerm st AvAe

(c) It (d) ®ig -1
(13) Which organ is plotted on left index finger kapha joint -
(a)Heart (b) Kidney
(c) Liver (d) None
IR Bl @Y doi-l ATl & $% Siis WX 4 @ga o Rerfa 8 —
(a) &% (b) T
(c) adhd (d) ®dig I8l
(14) How many sutras -
(a) 1 (b) 3
(c)2 (d) None
Gd fead g3 & -
(a) 1 (b) 3
(c) 2 (d) g T
(15) Element related to No. 3 is -
(a) Water (b) Earth
(c) Fire (d) None
03 TR ¥ gHfEd ad 28—
(a) oTd (b) gl
(c) arf (d) dIg T8



(16)

(17)

(18)

(19)

(20)

(21)

Pituitary gland is located on which finger -

(a) Rt ring finger (b) Lt middle finger
(c) Lt Small finger (d) None
frcgedt iy foa el # Rera 23—

(a)<TfE=r TSt (b) 9T HETHT
(c) Il HffRs®T (d) &g T2Y

Pitta consists of which two elements -

(a) Space+Water (b) Firet+Earth

(c) Water+Earth (d) None

e foa1 <1 <oal 4 i SR g1 @ —

(a)3TdTer + ol (b) 3R+ gedi
(c) ST+ ygedl (d) &g T2
Plotting of Medulla is -

(a) Lt Ring finger K joint (b) Rt RF K joint
(c) Lt IF K joint (d) None

Fgar Rera 2-

(a) IRfT ITRADT K jt (b) SrRY ST K jt
(c) I Toi+Y Kjt (d) ®ig -2l
Finger related to ‘Atma’(Soul) is -

(a) Rt thumb (b) Lt Small finger
(c) Lt thumb (d) None

3T 8 wfed At @ —

(a) grT 3ol (b) 9T Sf-Ifs®1
OEEIELC) (d) BYE T
Treatment of eye on which finger -

(a) Small finger (b) Rt Ring finger
(c) Lt index Finger (d) None

AT $T IUAR fHA Al IR PRA —

(a) sffa®r (b) TTAT 3Tt
(c) IRfY st (d) ®Ig TEY
Element related to sound energy -

(a) Wind (b) Earth

(c) Water (d) None

g’ THET 4 G9fEd ad a—

(a) a1y (b) gl

(c) ol (d) dIg Tl



(22) Number related to time(Kaal) -

(a)6 (b) 5

(c)4 (d) None

B q gfad T 2 —

(a) 6 (b) 5

(c)4 (d) dIg ¥
(23) Correspondence of Lumbar/Lower back -

(a) Front side of palm (b) Back side of palm

(c) Both side (d) None

DR BI WG BBl BT —

(a) el H At (b) gell # di®

(c) ]I &R (d) BIg TS
(24) Element related to Rt small finger -

(a) Wind (b) Water

(c) Space (d) None

<rfil wfifis®T @ awafaa @ 8-

(a) arg (b) wiet

(C) SITHTe (d) ®is gl
(25) Joint related to Kidney is-

(a) LtIF Kijt (b) Rt IF-K-jt

(c) Rt MF-P jt (d) None

fpsl @ wwfaa siis &9 ar 8-

(a) IRfT a<i=i K jt (b) <™t asi+r K jt

(c) <Al \egHT P jt (d) ®Ig T2Y
(26) Which one is metaphysical element -

(a) Direction (b) Wind

(c) Fire (d) None

g9 9 T WRifae a9 2—

(a) faam (b) a1y

(c) arft (d) ®Ig &l
(27) Number of Metaphysical element -

(a) 01 (b) 05

(c) 04 (d) None

wrHifae gt @ d@r —

(a) 01 (b) 05

(c) 04 (d) 1% T



(28) Tulyarthata of Rt elbow is -

(29)

(30)

(31)

(32)

(33)

(a) RtIF- P jt
(c) Rt RF- P jt

Srff ®isf 31 goarefar i fi—

(a) RtIF-P jt
(c) Rt RF- P jt

Bone Tissue related joint is -

(a) Rt IF- P jt
(c) Rt RF- P jt

ke a1g 9 wwafaa Sis 2—

(a) Rt IF- P jt
(c) Rt RF- P jt

Heart related element is -

(a) Aakash
(c) Agni

g<d 9 gwfud dd 2—

(a)3ATHT
(c) arfiq

‘Ahankar’ related element is -

(a) Kaal
(c) Agni

‘FEDBN GHEfHd dd & —

(a) @Tet
(c) 3

(b) Lt MF- P jt
(d) None

(b) Lt MF- P jt
(d) oI =Tl
(b) Rt SF- P jt
(d) None

(b) Rt SF- P jt
(d) Big el

(b) Vayu
(d) None

(b) arg
(d) ®1g T

(b) Man
(d) None.

(b)
(d) &g -1l

Action organ ‘Hand’ is related to which joint —

(a) Lt MF-P jt
(c) Rt RF-P jt

(b) Rt MF-P jt
(d) None

HUfgy ‘gier 4§ gHfud ol 2 —

(a) Lt MF-P jt
(c) Rt RF-P jt

(b) Rt MF-P jt
(d) B¢ TEl

Tulyarthata of Shoulder will be in -

(a) Middle finger
(c) Index finger

‘Y’ B goaretar B —

(a) #=sT o
(c) asi=ft &

(b) Ring finger
(d) None

(b) 3T A
(d) Big el



(34) ‘Disha’ element related energy is -

(a) Touch (b) Sound

(c) Aim/Motto (d) None

faenm wwaffaa a@ @ Sof 2—

(a)waet (b) s

(c) A& /3g_ ™ (d) ®dIg T8
(35) Water related number is -

(a)1 (b) 2

(c)3 (d) None

W' 9 gHfEd i 8 —

(a) 1 (b) 2

(c) 3 (d) ®1$ =T
(36) Lt MF —V joint is related to -

(a) Medulla (b) Cerebellum

(c) Pons (d) None

Lt MF — V joint @f~ea 38—

(a) AgaT € (b) AdaH |

(c)urer | (d) BI$ T
(37) RtRF-Vjtisrelated to -

(a) Stomach (b) Spleen

(c) Heart (d) None

Rt RF- V jt awafera 2—

(a) Stomach (b) Spleen

(c) Heart (d) ®ig -2l
(38) Rt RF ‘P’ joint related sense organ is -

(a) Touch (b) Smell

(c) Eyes (d) None

Rt RF ‘P’ joint & wwafed amfga 2—

(a)wqet (b) e

(c) sE (d) ®1$ =T
(39) Left Ring Finger ‘K’ joint is related to -

(a) Cervical (b) Thoracic

(c) Lumbar (d) None

Lt RF ‘K’ jt & awafeera 2—

(a) Cervical (b) Thoracic

(c) Lumbar (d) ®ig T8I



(40) ‘Radiance’ is the energy of -

(a) Aakash (b) Vayu

(c) Agni (d) None

‘B THTEAT 83—

(a) SMT®Ter I (b) arg B

(c) i @t (d) &g T2
(41) ‘Pitta Dosh’ related number is -

(a) 1+2 (b) 3+4

(c) 5+6 (d) None

i <Iw 9 gwfaa s & —

(a) 1+2 (b) 3+4

(c) 5+6 (d) dIg T
(42) Rt Thumb related number is —

(a) 7 (b) 0

(c) 8 (d) None.

TR 3 @ wrfud e & —

(@7 (b)0

(c)8 (d) ®1g =Tl
(43) ‘Atma’is -

(a) Physical element (b) Metaphysical element

(c) Both (d) None

T B—

(a) wifa® aw@ (b) wRrHifa® d@

(c) It (d) Big el
(44) RtIF -V jtrelated organis -

(a) Si (b) UB

(c) GB (d) None

Rt IF — V jt S¥afa sraaq 28—

(a) Si (b) UB

(c) GB (d) ®1g TEl
(45) ‘Cortical brain’ is plotted on -

(a) Rt thumb V jt (b) Lt thumb V jt

(c)RtIFVjt (d) None

‘Cortical brain’ fRerd 28—

(a) Rt thumb V' jt (b) Lt thumb V' jt

(c) Rt IF V' jt (d) ®Ig &l



(46)

(47)

(48)

(49)

(50)

Plasma tissue is related to -

(@) Lt SF-Pjt (b) Rt SF- P jt
(c)LtIF-Pjt (d) None
TSl g @ wHEfud S @ —

(@) Lt SF-Pjt (b) Rt SF- P jt
(c)LtIF-Pjt (d) ®ig 18I
Lt SF-V jt related organ is -

(a) Li (b) Si

(c) St (d) None

Lt SF- V jt ¥ wwfea qaq 32—

(a) Li (b) Si

(c) St (d) ®1$ =T
Rt knee Tulyarthata will be in -

(a) Rt MF ‘P’ jt (b) Lt MF ‘P’ jt
(c) Rt SF ‘P’ jt (d) None
qIfes ged 4 wwafad goarefar -

(a) Rt MF ‘P’ jt (b) Lt MF ‘P’ jt
(c) Rt SF ‘P’ jt (d) &g =12l
‘Physical element’ is -

(a) Aakash/Space (b) Kaal/Time
(c) Disha/Direction (d) None
wifos @ 8 —

(a) ATHTA (b) ®Tet

(c) fa=m (d) &g T2
‘Heart’ is related to element -

(a) Aakash (b) Vayu

(c) Agni (d) None

< 4 gWfEa ad 8-

(a) smorar (b) arg

(c) arf (d) dIg T8



